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1. ( ) An algorithm is
(2) an equation in linear algebra
(b) astep-by-step description of procedures solving a problem
(c) the selection of shapes for the flowchart diagram
(d) a filtering software

"2.( ) Which one in the following is a declarative programming language? ,

(a) Ci++ (b) FORTRAN
(c) Pascal , (d) Prolog
3. ( ) Which of the following is only a sequential access medium?
(a) RAM (b) optical disk
(c) tape (d) hard disk
4. () In order, from less expensive to more expensive and from slower to faster, storage media are
(a) floppy disk, compact disc, hard disk, tape (b) hard disk, tape, floppy disk, compact disc
(c) compact disc, hard disk, tape, floppy disk (d) tape, floppy disk, compact disc, hard disk
5.( ) The era of machines built around vacuum tubes is referred to as the:
(a) first generation of computers (b) second generation of computers
(c¢) third generation of computers (d) fourth generation of computers
6. ( ) Which of the following is used to find a specific target in an unordered list?
(a) binary search (b) sequential search
(c) recursive search _ (d) interpolation search
7. ( ) Aprocess in the ready state goes to the running state when
(a) it enters memory (b) it requests I/O
(c) itgetsaccessto CPU - - (d) it finishes running
8. () Which of the following is the fastest sorting algorithm in general?
(a) insertion sort (b) heap sort
(c) bubble sort (d) selection sort -
9.( ) Which of the following is not a protocol of transport layer?
(a) ICMP (b) SCTP
(c} TCP - (d) UDP
10.( ) How many layers does the OSI reference model have?
() 4 ®5
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